+ T 2t =1 (—% 1)
FEAI AEELY
V= 6.25 6.25 | m® 6.3
PR FHEELDY
V= 63.70 63.70 | m® 63. 7
WREL FHEELY
Vi= 41.53 41.53
WERXBAMTHE IS (No. 2HI11%)
V2= 0.17 X 11.50 1.96
SL=11. 5m
BERRRMTIE IS (No. 2+4. TfH3T)
V3= 0.17 X  5.50 0. 94
¥1=5. 5m
> 44,43 | m® 44, 4
PEH ARG £zl 6. 25
IR 63. 70
69.95 | m® 70. 0
B R E WEREL \V4 44. 43 | m® 44, 4
b5 Ui ( #EEl + K#E ) — (&L +  #HE ) /0.9
V= 69.95 — 44.43 /0.9 20.58 | m® 20. 6
PR R RE TR U025
& Al -
E & -
HELFAL 0.17
CoERiE L 0.04
AsERIE L -
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+ B = B B =
o i Hll IZR PE MoE L (0 + )
S 4 y (m) Wr m & F B + & | WmE| % B + & | WmE| %Y + &
(m?) (m®) (m®) (m®) (m®) (m”) (m®) (m?) (m”)
NO. 1+17.0 |NO.1 + 17.00 0. 00 0.06 0.54 0.35
NO. 2 NO.2  + 0. 00 3. 00 0.06 0.06 0.18 0.54 0.54 1.62 0. 35 0.35 1.05
NO. 2+4. 7 NO.2  + 4.70 4. 70 0.18 0.12 0.56 1.97 1.26 5.92 1.15 0.75 3.53
NO. 3 NO.3  + 0. 00 15. 30 0.12 0.15 2.30 1.27 1.62 24.79 0.87 1.01 15. 45
NO. 4 NO.4  + 0. 00 20. 00 0.06 0.09 1.80 0.57 0.92 18. 40 0. 35 0.61 12. 20
NO. 4+2. 0 NO.4  + 2. 00 2. 00 0.06 0.06 0.12 0.57 0.57 1. 14 0. 35 0.35 0. 70
NO. 2+10HRA 38 | & i 0. 00 0. 06 0.55 0. 40
HEIS 21.50 0.06 0.06 1.29 0.55 0.55 11.83 0. 40 0. 40 8. 60
&t 66. 50 6. 25 63. 70 41.53
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UM B 7= T NS
(3F%3000) L= 2.00 2.00 | m 2.
AT A IR S &Y
(300A) L= 2.00 2.00 | m 2.
REWTHE SEEX LY
(G400A) L= 17.00 7.00 | m 7.
a7 U— K% N= 8350 <+ 0.50 —  9.00 158.00 | #& 158.
(300/1)
T —F 7% N=  83.50 -+  10.00 9.00 | Kt 9.
(300/)
SE KT
AEIKED S LD
(500X 500A) | N=  2.00 2.00 | 3% 2.
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UL N= 10.000 -+ 2.000 = 5.000 | A& 5.00
(37E3004) ( L=2000, 25 EH &=419kg/{# )
SHERRED YA 7 VR
EZ)L | V= 0.360 X 0.030 X 10.000 = 0.108 | m® 0.11
(1:3)
Pyl A= 0.560 X 10.000 = 5.600 | m? 5. 60
(RC-40, t=10cm)
FLEREIE A= 0.560 X 10.000 = 5.600 | m? 5. 60
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SHERRED YA 7 VR
FEVZASEN V= 0.300 X 0.100 X 10.000 = 0.300 | m® 0. 30
a7 U—Fh
(18-8-25BB)
[A] AR A= 0.300 X 0.200 X  5.000 = 0.300 | m® 0. 30
10mY4 Y < 2m/ A =5 FT
e LK | V= 0.340 0 X 0.030 X 10.000 = 0.102 | m® 0.10
(1:3)
FAREAS A= 0.540 X 10.000 = 5.400 | m? 5. 40
(RC-40, t=10cm)
FLmEEEIE A= 0.540 X 10.000 = 5.400 | m? 5. 40
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(G400A) ( L=1000, & EHE=479%g/{# )
e X0 | V= 0.590 X 0.020 X 10.000 = 0.118 | m® 0.12
(1:3)
Hpga 7 U—R V= 0.690 X 0.100 X 10.000 = 0.690 | m® 0. 69
(18-8-25BB)
] A P A= 0.100 X 10.000 X  2.000 = 2.000 | m’ 2.00
FLAREF A= 0.790 X 10.000 = 7.900 | m? 7.90
(RC-40, t=15cm)
LR IE A= 0.790 X 10.000 = 7.900 | m?® 7.90
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BAETERFEMRE N= 10.000 —+  2.000 = 5.000 | 1 5. 00
(3004)
L=2000 (L=500 X 4)
#ELZ)L | V= 0.030 X 5.000 = 0.150 | m*® 0.15
(1:3) KUEH7- V0. 030m
Py A= 1.400 X  5.000 = 7.000 | m? 7.00
(RC-40, t=10cm) SUE H 7= 0 1. 400t
FLEREIE A= 1.400 X 5.000 = 7.000 | m? 7.00
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125 L 125
8 B
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R KBz "
Si5isy eie
E | 850 ||\ (RC-40)
‘ 950 ‘
4 PR At B <P AVARE ¢ 5
83 FIPUARERE 24 & 1.000 X 10.000 = 10.000 | & 10. 00
(500 X 500A) ( B EHEE=374kg/ 1 )
T—F T 1.000 X 10.000 = 10.000 | ¥ 10. 00
(T-25, 500 X 500)
A N — K 0.500 X 0.500 X 0.050 X 10.000 = 0.125 | m°® 0.13
a7 U—Fh
(18-8-25BB)
a7 U — b 0.850 X 0.850 X 0.100 X 10.000 = 0.723 | m® 0.72
(18-8-25BB)
[ AR 0.850 X 0.100 X 4.000 X 10.000 = 3.400 | m? 3. 40
FAERS 0.950 X 0.950 X 10.000 = 9.025 | m® 9. 03
(RC-40, t=10cm)
FLmmEE e 0.950 X 0.950 X 10.000 = 9.025 | m® 9.03




W ¥ I # B #

(—xH )
T AT 7L MFLEET
g FHEELD
(t=4cm) A= 376.35 376.35 | m?® 376. 4
A PEEIL D
(t=100mm) | Al= 6.25 /  0.10 62. 50
BESRBRMTRE IS (No. 2R1F%) s
A2=  0.46 X 11.50 5. 29
MHMER ¢ =0. 46m, L=11. 5m
REZRRETE LS (No. 2+4. THRHT)
A3=  0.46 X  5.50 2.53
AN 6 =0. 46m, 1=5. 50m
70.32 | m?® 70. 3
N EI=PN) S )
M= TH30m) | A= 376.35 —  70.32 306.03 | m?® 306. 0




A = St
] 4 ii] TR = H
jESH i
S 4 (m) 5 N [T M N [T 5 N S| I FH
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 1+17. 0 NO. 1 + 17. 00 0. 00 4.70
NO. 2 NO. 2 + 0. 00 3. 00 4. 90 4. 80 14. 40
NO. 2+4. 7 NO. 2 + 4.70 4.70 4.90 4. 90 23.03
NO. 3 NO. 3 + 0. 00 15. 30 6. 20 5.55 84.92
NO. 4 NO. 4 + 0. 00 20. 00 7. 40 6. 80 136. 00
NO. 4+2. 0 NO. 4 + 2.00 2.00 7. 40 7.40 14. 80
NO. 2+10HRA 38 | & i 0. 00 4. 80
FE R 21.50 4. 80 4. 80 103. 20

it 66. 50 376. 35
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Rizswmar s y—k L= 35.50  +  28.50 +  21.50 = 85.50 | m 85.5
AT RIUAMATES00A : 35. 5m, ZEAURMAITE300A : 28. 5m
B EURAARES00A ¢ 21. bm




W& » =2 v 27 U — k (10m2%4 ¥ )

4 PR At H BAT|
a7 U—k | V= 0.200 X 0.100 X 10.000 = 0.200 | m® 0. 20
(18-8-25BB) SOEEIW=20cm

H ikt A= 0.200 X 0.100 X 1.000 = 0.020 | m® 0.02

(4754}, t=10mm)
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Syl
(TAZ7 7V k)
(t=15cmLL )

V1=

V2=
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Vo=

V6=

Vi=

AtRELD
5. 42

BERXHEMTE IR (No. 2/111%)
0. 04 X 11.50
x1=11.5m

BESRFRMTIE IS (No. 2+4. Tf-H3T)
0.04 X  5.50
$L=5. 50m

BERREE KB (No. 1+17. OfF3T)
0.29 — 0.15 —
PN T500 X 500 X 600, £=100,
BEfpe /K - 300A (2FEFT)  BEGRREWTRE U2

BERREAME (No. 2+4. TF3T)
0.29 — 0.15 —
S PNF500 X 500 X 600, t=100
PRI © 3004  BERRAEMTRTIE (2f&PT)

BE KBt (No. 2+4. TH> B No. 3[H)
0.15 — 0.08 — 0.02
SPNF500 X 500 X 300, t=100

B K% - 300A  BERRAEMTIE IS

PR E KB (No. 2+4. T)>BNo. 3fH)
0.93 — 0.45 — 0.02
$PNF900 X 900 X 550, =200
Pafee /K - 300A  BERRAEMHAIIEG300A

0.03

0.03

AHEELD
402. 97

4,70 4+ 7.80 4+ 510 +
¥No. 1+17HEMT : 4. Tm, No. 4+2. OFEHT : 7. 8m
No. 2+10/ZE BufHiEEMT : 5. Im

% R - 35.5m + 7. 0m » 28. 5m » 21. bm
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= 402.
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BMEYHELHRESE:?2

(—xK%E0)
TEPRALEE T
eI FEEMBEEL XV
(a7 Y —R) 6. 83 6.83 | m? 6.8
T FEEIEE L LV
(7 A7 7L k) 402.97 X 0. 04 16.12 | m?® 16. 1
KO R dem
ALy B LD
(=27 U— ) 6.83 6.83 | m® 6.8
ALy PRIEHR LD
(TAZ 7V R) 16. 12 16.12 | m? 16. 1
AT 36. 50 X 7. 00 255.50
(BEFR, ~E —H3) 7 L—F 7 E 36, 5kg/ K
> 255.50 | kg
0. 26 t 0.3
B H A sk
= = E|
BE SRR T IR i 25
i ll -
K B -
BELERL) 0.17
CoErtE L 0.04

AsENIE L




¥ = = feht
B i L Py = 5t G
_— 7 A 7 7 v b H | B OF o= v 7 U — b
S 4 J= (m% ) N mOfE | WrmE B w | Wm | W (N
(m) (m) (m?) (m®) (m®) (m”) (m®) (m?) (m”)
NO. 1+17.0 |NO.1 + 17.00 0. 00 4.70 0. 06
NO. 2 NO.2  + 0. 00 3. 00 5. 50 5.10 15. 30 0.06 0.06 0.18
NO. 2+4. 7 NO.2  + 4.70 4,70 5. 50 5. 50 25. 85 0.14 0.10 0.47
NO. 3 NO.3  + 0. 00 15. 30 6. 60 6. 05 92. 57 0.11 0.13 1.99
NO. 4 NO.4  + 0. 00 20. 00 7.80 7.20 144. 00 0.05 0.08 1. 60
NO. 4+2. 0 NO.4  + 2. 00 2. 00 7.80 7. 80 15. 60 0.05 0.05 0.10
NO. 2+10HRA 38 | & i 0. 00 5.10 2.55 0. 05 0.03
21.50 5. 10 5.10 109. 65 0.05 0.05 1.08
&t 66. 50 402. 97 5. 42




X B H I 3 &H = (—3%4 )

X JH R X LY
(A, I@15cm, ) | N= = 1| 3
(L EAMAHR)
XK1Y -V IE R
L= 82.00 X 2.00 + 3.00 = 167.00 | m
ESER N= = 1| X

(F, IE30cm, ZEHE)

(fIkfR) RISV TR

L= 3.30 = 3.30 | m
X TR N= = 1) K
(B, WG 15em 5, 307 - fi %)
RS EVE P/ 1522
(kEh)
L= 18.60 = 18. 60
(77 v A~ —2 THI)
L= 11.40 = 11.40

X = 30.00 | m
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